o)
@
@
o
&
° .
om
8 8 g2
a a - T
ZonEon] % |5 o s
© S |3
S g
659'90TT:VLO! < |2
995 796+289 <3
@
m O
i3
H &

£09°'S0TT=AId VLOD

k=43.500
50,291
1p1.558

£8'soLL | /8'soLl

e
d=

34145
682+900

6TZ°SOTT 'VLOD

TRAGADO
PROJETO GEOMETRICO
km 681+600 ao km 683+000

08'GoLL | o8‘cOLlL

34140
682+800

PROJETO - CONTRATO CLAUSULA 6.10

988'S0TT:V.L0D
180 ¢S+ =N\Id

Designagdo:

¥26'S0TT=,
BTG TEL+C89 UM=AId

e=
d=

=36.000
0,059
41.126

k:

L6T°90TT V10O £
A %P =N8 &
B /€daV0  if

CV 90T T-VIOT +£'90LL [ ¥€'90L L
€T 769+289 UM=ALd

34135
682+700

1:200/2000 (A1)
1:400/4000 (A3)

los:

Escal
V/H
V/H
5
o

£46'90TT=Ald VLOD

T26'559+289 UD=AId

42.500
€F0,172
176.434

k:

d
Data

PL'9OTT V10D |
DL 19+289 UNAADd

o

<

oL'90LL [ oL'90L 1L

34130
682+600
Elaborou

295°90TT=Alq VLOD

73.645

959'825+¢89

d=

EVTL0TT V10D
EE8TYS+289 UN=ADd

g& o
&8 v |3
WS | D
€ osotr [ 0B ot | % | &
» | ©
©o
o T1Z[80TTVL0D
gl VBYEL+CB9 WAL 09€'80TT=Ald V.10 w
gt 1 i 190
ST 655BOTT v100 & cossoltivion oV vor+eed Wi=Ald
196 G+, = H
7 h =NId
9/5'60TT=AId V10D gys o|8
£06°90b+2R9 WDI=Ald 298 Sy
Lo YV60LL | 760LE | ¥ | &
" | D
©
¥69°60TT ¥LOD
%
g
s
3g
0|8 HEE
ol R 21818 {2
Sg'60Ll | S860LL | ¥ | o 888 m
2 & M % ElS ﬂ
&8 OlElZ
N ]
iE HEE
A o3|z
L m il
e
2|8
e : ; |
82T0TITILOD | oroL [oroli| ¥ | &
€18'06T+£89 UM=ALd 3
8a2 \
88 06T'0TTT=Ald V10D 10}
L 896'99T4289 UD=Ald
it =
SIEOTTTFIOD -
€90V T+ <
s& 7o) W O
pd elx L
78 890111 | 8901 | ¥ [ &
s Led Q (U] L
s 0
¥66'0TTTV40D - N
Tvv'£50+¢89 UW=ALD O D
(O
o 1
ggl 662 TTTT=/\ld V10D =~ o
8g¢ T
Lof o a (]
o
8|8 =
$OTZIIT V109 T RE R m <
DZL066+189 =
~ @ Q
i £29TITVLOD =
TBSDLG+TBY WALE _ X n
¥80'gTTT=Ald Y100 8 m,m m <
~DereEerTEs BRI f g2 o
T6ZETLT V10D =0 m
086'7£6+789 UP=ADd o
ol8 I
g3 O
: . 2|+
OL'LLL | OLCLLL a w
» | @
© 14
[

T02¥TIT:V.LIOD

8YSVITT=Ald VLOD

8+189 UM=Ald

Projecto:

QEZ'STIT 10D

34090
681+800

ST 167380 o3 R A 4
w
)
: {
® 8
n
FREDS
EA A m r <
8 o
.A
65 BITT V10D w o
169759+189 WAL U<
s o
gng \ LpQ'6TTT=AIld VIOD % x
858 9612£9+789 UDI=Ald w o
7oy
3 2,617 V100 5 2 8 m o8 ]
pa GG/°909+189 UN=ADD pa = S| Z
O6'6LLL | 06'6LIT m =z e}
8 o
ol|=
° o e
G g m zZ|8
5= W o]
22 | B2 |Z|E
o m <
9f | 2< |33
8% | 88 |3
S oo |4U|a

T o oo [0 ]

6MpZsy 6L dd 1v1d G JN-ONOPONEETISYIA F3HXI0 438X 01S3Ad TI0OHVAVHL T0I8d 20\8d dY 63107 0r0-4E HEvOyTVN

©eolye.B B[E9SS € JApUSE |y Op 9)UBISJIP OJEULIO) WOD 0YUSSap B)sap seldoo w3



